
Element sauna PANORAMA LARGE
213 x 210 x 201 cm

Element sauna PANORAMA LARGE

Symbol photo

Montageanleitung
Assembly instructions

 DE
 EN

www.ismor.co.il | 077-804-4176



Element sauna

PANORAMA
LARGE

 Cabin size: 209 x 209 x 201 cm
 Incl. rim: 213 x 210 x 201 cm 
 Interior dimension: 196 x 196 x 198cm 
 Wall thickness: 64 mm

There may be slight variations in the dimensions.
Subject to technical modifications and misprints.

Dear customer,

Before you begin work, check the parts list to ensure that all the individual parts have been delivered. If you dis-
cover any missing parts, notify your dealer within 14 days of receiving the sauna cabin.

Keep the delivery note, the invoice and the assembly instructions in a safe 
place in case of any questions.

You require the following tools:

1 hammer and a wooden block or a mallet
1 cordless screwdriver with bits for cross-head screws and Torx
1 roller tape measure
1 drill bit Ø10 mm; 1 drill bit Ø3 mm
1 spirit level
1 pencil

You need an assistant for assembly. We also advise you to pre-drill the holes for the screws.

Installation instructions

ENG

02

The electrical connection may only be performed by a qualified electrician or similarly quali-
fied person. !

Symbol photo

www.ismor.co.il | 077-804-4176



Right side
1 wall element W1  102 x 194 cm 

    (Electrical element)
1 wall element W2  93.5 x 194 cm

Rear side
1 wall element W3  93.5 x 194 cm 

    (Ventilation element)
1 wall element W4  102 x 194 cm

Left side
1 wall element W5  93.5 x 194 cm
1 wall element W6  102 x 194 cm

    (Electrical element)
Glass front

1 glass element 195.2 x 69.4 x 0.8 cm
1 glass element 195.2 x 69.4 x 0.8 cm
with holes drilled for door hinges
1 glass element 191.4 x 59 x 0.8 cm
2 door handles with screws 
2 plastic rings
1 door seal (glass/glass) 193.4 cm
2 aluminium strips 67.7 cm

Roof
1 roof element 96.5 x 204.5 cm
1 roof element 102 x 204.5 cm

Base frame
1 �oor frame 4 x 8 x 202.5 cm
1 �oor frame 4 x 8 x 206.5 cm
1 �oor frame 4 x 8 x 201 cm

Roof frame
1 roof frame strip 4 x 2 x 202.5 cm
1 roof frame strip 4 x 2 x 206.5 cm
1 roof frame strip 4 x 2 x 201 cm

Interior �ttings
2 benches 195 x 62 cm
1 bench 128.5 x 62 cm
1 sauna bench cover 62 x 10 x 2 cm
1 bench screen 32 x 195 cm
2 mounting rails for bench screen 26 x 4 x 4 cm
1 back rest 80 x 26 x 5 cm

1 back rest 84 x 26 x 5 cm
1 back rest 187 x 26 x 5 cm
1 heater protection grille 57 x 45 x 2 cm
2 heater protection grilles 45 x 45 x 2 cm
1 mounting rail for heater 

protection grille 58 x 5 x 2 cm.
2 mounting rails for heater 

protection grille 47 x 5 x 2 cm.
2 bench support slats 116.5 x 4 x 4 cm
2 bench support slats 58 x 4 x 4 cm
1 bench support slat 49 x 4 x 4 cm
1 stainless steel bench foot 86 x 5 cm
2 mounting rails for glass element (left and right)

200.4 x 8.2 x 5.5 cm
1 mounting rail for glass element (top) 

208.9 x 8.2 x 5.5 cm
2 cover strips for glass front (left and right)

193.4 x 7 x 2.5 cm
1 mounting rail for glass front (top)

213.9 x 2.5 x 7 cm
2 roof rim slats 1 x left; 1 x right

215.2 x 2.5 x 7 cm 
5 interior door cover strips 200 x 2.5 x 1 cm
2 corner posts 184 x 7 x 4 cm
1 tongue and groove plank with rounded groove 

194 x 6.7 x 1.2 cm 
1 tongue and groove plank with rounded tongue 

194 x 7.5 x 1.2 cm 
1 tongue and groove plank with groove 

194 x 5.4 x 1.2 cm 
1 tongue and groove plank with tongue 

194 x 6.4 x 1.2 cm 
2 head rests 43.5 x 25 x 7 cm
1 �oor grid 70 x 53 cm
1 lamp guard and lamp without bulb
1 ventilation shutter
1 silicon cable 3 m 5 x 1.5 mm²
1 assembly material set
1 assembly instruction manual

The parts list can also be used as a claims sheet.

PANORAMA LARGE parts list

03www.ismor.co.il | 077-804-4176



Length: 201 cm

Length: 202.5 cm

Installation instructions

ENG

04

Fig. 1.1

Corner connecting strip with screws: 
5 x 90 mm fasten to wall elements 
W2 + W4.

Fig. 1.2

Fig. 1.3

W2

www.ismor.co.il | 077-804-4176



W3 W2 W3 W2W4 W1W3 W2 W3 W2W4

Screws: 3 x 40 mm

05

Fig. 1.5

Fig. 1.4

Fig. 1.7

Fig. 1.6

Fig. 1.8

W1

www.ismor.co.il | 077-804-4176



Screws: 4 x 40 mm

Screws: 5 x 90 mm

Installation instructions

ENG

06

Fig. 1.9

Fig. 1.10

Fig. 1.11

Fig. 1.12

www.ismor.co.il | 077-804-4176



Screws: 4 x 40 mm

Screws: 5 x 90 mm

Roof screw connection
Screws: 5 x 90 mm

07

Fig. 1.13

Fig. 1.15

Fig. 1.14

Fig. 1.16

www.ismor.co.il | 077-804-4176



84 cm

39.5 cm

Installation instructions

ENG

08

Screws 4 x 60 mm

10 mm

Fig. 1.18

Fig. 1.17

Fig. 1.19

Fig. 1.20

2 x screws 4 x 60 mm

www.ismor.co.il | 077-804-4176



09

3 x screws 4 x 60 mm

Cross bench -
view from below!

6 x screws 2.5 x 25 mm

Clam the stainless steel foot 
with an allen key.

Fig. 1.21

Fig. 1.22

Fig. 1.24

Fig. 1.23

www.ismor.co.il | 077-804-4176



Screws 3 x 30 mm

Vertical cover strip 
screws 3 x 30 mm

Fig. 1.25

Fig. 1.26

Installation instructions

ENG

10 www.ismor.co.il | 077-804-4176



Screws 3 x 30 mm

Fig. 1.34

Fig. 1.35

11

26 cm

2 x screws 3 x 30 mm

Fig. 1.32

www.ismor.co.il | 077-804-4176



Glass door �tting

Aluminium strip (fasten to 
the �oor with some silicon) 

Screws 
3 x 40 mm

Fig. 1.36

Fig. 1.37

Fig. 1.38

Fig. 1.39

Push the glass mounting rails down 
(left and right)

Push the top glass mounting rail from right to left (the side distance on 
the left and right should be the same)

12

Installation instructions

ENG

www.ismor.co.il | 077-804-4176



60 cm
Inside

Heater protection grille
Screws 3 x 40 mm

Screws 
3 x 40 mm

Fig. 1.40

Fig. 1.41

Fig. 1.42

Fig. 1.43

Fig. 1.45

Fig. 1.44

13

Symbol photo

www.ismor.co.il | 077-804-4176



FLOOR PLAN OF PANORAMA LARGE
 213 x 210 x 201 cm

14

The cabin can be set up on the left or right.

sentiotec GmbH  world of wellness  Oberregauer Straße 48  4844 Regau, Austria  
T +43 (0) 7672/277 20-800  F +43 (0) 7672/277 20-801

E-mail: info@sentiotec.com  www.sentiotec.com

GRUNDRISS PANORAMA LARGE
 213 x 210 x 201 cm

Kabine links oder rechts aufbaubar

www.ismor.co.il | 077-804-4176



Element sauna PANORAMA LARGE

sentiotec GmbH  world of wellness  Oberregauer Straße 48  4844 Regau, Austria  
T +43 (0) 7672/277 20-800  F +43 (0) 7672/277 20-801

E-mail: info@sentiotec.com  www.sentiotec.com

Symbol photo

www.ismor.co.il | 077-804-4176


